Name: K@\‘{ Math 163 Test #2

Overall Points (60 pts) (Total points will be multiplied by 5/3 in order to get a score out of 100)

1) What is the degree of the function: f(x) = -4x°+ 3x> = 8x* + 10 ? =
(2 pts)

2) Describe the end behavior in the functions shown below: (2 pts each)

a) f(X)=-3x4_5X3+2x—5 b) g(x)=6X5—3X4—2x2+6
As x> o ,f0) 5 - as %X oo {0 oo

3) Given the function f(x) = |x— 2| + 3, then what would be the new equation of the

function if you 1) shifted the graph 3 units right, 2) reflected the graph over the x
axis, then 3) shifted the graph 5 units down? (3pts)

) £ = Ix-s\+3
D FD:= -\x-51-3
3) "c (Y\ = - \X—s\'%

4) Using Synthetic Division divide the following polynomials, then state why the
denominator is or isn’t considered a factor of the numerator. (6 pts)
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divide the following polynomials: (5 pts)

5) Usinglong division
6x3 —4x* +8x+1
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6) List all possible rational zeros of the function: g(x) = Ax® + 32 —5x + 6 (4 pts)
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7) Using Descartes Rule of Sign Ch
e function: (4 pts)

seros and the number of possible negative real zeros of th
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8) Factor the polynomial f(x) = 2 =x*=12x—9 (6 pts)
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1 = (x + D(Zx"—%x -‘ﬂ
£ = (x+ DX =3 Y2x+3)

9) Solve the equation: x> — 4x*—9x+36=0 (7 pts)
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X=3 ;) XK= Y , X == 3
10) Factor the polynomial f(x) = 8x> + 4x> — 10x + 3 given one of the zeros of the function
is Ya. (7 pts)
118 4 -0 3
Y 4 4 -2
d B -b IO
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11) What is one possible function of degree 3 given two of the zeros of the function are

(3 - 2i) and -4? (6 pts)
(x+D(x - (-2 x-(z+ a))

(x+9) (x-3 % 3)(x-> -3L)

(k) (5 -3 - 3430+ G4+ Wi - - 407
(RAD)( X -bx + 9 =u(-))

s aDN(P-bx 413

== \o%‘z—\—\ay A l-\y:"- 4% &+ SR

fed =

"

"

o
-

T X = ax- % 453

e A
12) Simplify: (3+4)(2-51)= b =\SL 4+ 'L -20 L
(3 pts) ‘
= b -1 -20(-Y)

= o=t

13) How many imaginary zeros does this function have if it is a degree 5 polynomial?
S Zeros

(3 pts)
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